Zill Differential Equations 9e Final Exam 1 Form A
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11.

12.

13.

14.
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17.

18.

19.

. Solve the differential equation 3’ — 4y = z°.

Solve the differential equation y' = cos(2z)eY.

2

. Solve the differential equation (23 + 3®)dx + 3zy?dy = 0.

. Use Euler’s method to solve the initial value problem 3 = 1 + 32, y(0) = 1, with a

step size of h = 0.1. Find approximations of y(0.1) and y(0.2).

. In the previous problem, compare your answers with the exact solution, y = tan(x +

m/4). What are the errors at z = 0.1 and at = = 0.27

. A 10 gram sample of a radioactive substance is found to decay by 5% in 8 hours.

Identify all variables. Assuming the rate of decay is proportional to the amount
present, write down the differential equation problem for the amount of the substance
as a function of time, and solve it. What is the half-life of the substance?

A baked cake is taken from a 375°F oven and placed on a table at 70°F. Thirty
minutes later it has cooled to 100° F'. Identify all variables in the problem, write down
the differential equation problem for the temperature, and solve it for the temperature
as a function of time. Assume that Newton’s law of cooling applies. What is the
temperature one hour after it was taken out of the oven?

. Solve the differential equation 3" — 63 + 8y = 0.

. Solve the differential equation y” + 4y’ + 4y = 2% + 1.

Solve the differential equation y” — 6y' + 13y = cos(3z).
Solve the differential equation y” — 3y’ + 2y = x + €”.
Solve the differential equation y” + 4y = tan(2z).

Solve the differential equation x%y” — 6zy + 10y = 0.
Solve the differential equation 2%y” 4+ 5xy + 5y = 0.

A 1-kilogram mass is attached to a spring with spring constant 12-Newtons per meter.
The system is immersed in a liquid that imparts a damping force numerically equal to
8 times the instantaneous velocity. The mass is initially released from rest at a point
0.5 meter below the equilibrium point. Identify all variables and find the equation of
motion of the mass.

Find the charge on the capacitor in an LRC circuit if L = 1h, R = 10092, C' = 0.0004f,
E(t) =50V, ¢(0) =0C, i(0) =4A

Solve the eigenvalue problem y” + Ay = 0, y(0) = 0, y(7w/2) = 0.

Consider the series Y o> (x + 2)"/(n2™). Use the ratio test to determine the radius
of convergence.

!

Identify the singular points of 2%y” + 22y’ + v = 0 and tell whether they are regular

or irregular.
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39.

40.

41.
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Identify the singular points of (x — 1)3z(z + 1)%y” — 32y’ 4+ 2y = 0 and tell whether
they are regular or irregular.

Use power series methods to find the solution of 4" + y = 0 about z = 0.

Use power series methods to find the solution of y” 4 (1 — 22)y = 0 about z = 0.
Use power series methods to find the solution of 2zy” — 4’ + 2y = 0 about x = 0.
Use power series methods to find the solution of zy” + 2y’ — zy = 0 about x = 0.
Use power series methods to find the solution of zy” — 2y’ +y = 0 about z = 0.

Use power series methods to find one solution of z2y” + zy’ + (22 — 4)y = 0 about
z=0.

In the previous problem, identify the equation and write down the solution using the
special function notation.

Use power series methods to find the solution of (1 — x2)y” — 22y’ + 6y = 0 about
z=0.

In the previous problem, identify the equation and write down the solution using the
special function notation.

Define the Laplace transform of a function f(¢).
Find the Laplace transform of te’.

Find the Laplace transform of cos(3t).

Find the inverse Laplace transform of 4/(s? + 9).
Find the inverse Laplace transform of 5/(s — 4)3.
Find the inverse Laplace transform of e=*%/(s(s — 1)).
Find the inverse Laplace transform of 1/(s? + 2s + 5).

Find the inverse Laplace transform of 1/((s—1)(s?+4)) using the convolution theorem.

Solve the initial value problem y' — y = sin(2t), y(0) = 0 using Laplace transform
methods. (Hint: the previous problem might be useful.)

Solve the initial value problem 3’ —y = te?, y(0) = 1 using Laplace transform methods.

Solve the initial value problem y” 4 2y’ — 3y = e =3, y(0) = 0, 3/ (0) = 2 using Laplace
transform methods.

Solve the initial value problem y"” —y = tU(t — 4), y(0) = 1, ¥'(0) = 0 using Laplace

transform methods.

Solve the system X’ = AX where A = ( _1 i )
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43. Find a particular solution of the system X’ = AX + F(t) where A = ( L2 ) and

-1 4
F(t):(f).

44. Solve the system X' = AX where A = < _i i )

ot
|
W

45. Solve the system X' = AX where A =

—_
N O
ot N O

46. Let A = . Calculate e“t.

w ot O
N OO
o O O

47. Consider the initial value problem 3’ = 3zy, y(0) = 1. Solve for y(0.1) using the
improved Euler method with a step size of h = 0.1.

48. In the previous problem, solve for y(0.1) using the most popular second order Runge—
Kutta method with a step size of h = 0.1.

49. In the previous two problems, solve for (0.1) using the classical fourth order Runge—
Kutta method with a step size of h = 0.1.

50. In the previous three problems, comment on the expected local and global errors of
the three methods.
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1.
2.

3.

10.
11.
12.
13.
14.
15.
16.
17.
18.
19.
20.
21.
22.

23.

24.
25.
26.

27.

y = —In(c — sin(2x)/2)
y=—22/4 —x/8 —1/32+ ce'®

4 /A +ayd =c

Cy(0.1) ~ 1.2, 4(0.2) ~ 1.444

e(0.1) = tan(0.1 + /4) — 1.2 = 0.023, €(0.2) = tan(0.2 + 7/4) — 1.444 = 0.064

z(t) = amount of the substance at time ¢, % = kx, x = 10e, k = In(0.95)/8 =

—0.00641, half-life = —In2/k = 108 hours

T(t) = temperature at time ¢, %= = k(T — 70), T = 70 + 305¢*, k = In(30/305)/30 =
—0.0773, T = 70 + 305¢~9-0773¢ "T(60) = 73.0°F

y = c1€?® + coet?

y=cre 2 +coze?® + 2% /4 —2/2+5/8

y = 137 cos(2z) + c2e3¥ sin(2x) + (2 cos(3z) — 9sin(3z))/170
y = c1e® + coe® + /2 + 3/4 — ze®

y = c¢1 c08(2x) + cosin(2z) — In | sec(2z) + tan(2x) | cos(2x)/4

Yy = cl$2 + 621‘5

y = 27 2[cy cos(Inz) + ¢z sin(ln z)]

x(t) = position at time t, 2"/ +8z'+12x = 0, z(0) = 0.5, 2/(0) = 0, x = (3e~ 2 —e75) /4
q(t) = (1 — 7% + 150te=5%) /50

A =4n?, y =sin(2nz), n =1,2,3,...

R=2

x = 0 is a regular singular point

x = 0, —1 are regular singular points, x = 1 is an irregular singular point

Y =co o2 (=122 /(2n)! + 1 300 o (= 1)L /(20 + 1)1
y=co(l—2%/2+2*/8+..)+ci(x —23/6 +T2° /120 + .. .)

y = coll + 552, (~2)"a"/(n)(~1) - 1--- (2n — 3))] +
1?1+ Y00, (~2)"a/(nl5 - T+ (2n + 3)

y=cod> oo/ (2n)! + 1 3200 22/ (2n + 1)!
y=cor+cjrlnz —1+22/2+23/12+ -]
y = colz? + 5L, (=) 2?2 /(22 nl(n + 2)1)]

Bessel’s equation of order 2, y = ¢oJ2(x) + ¢1 Yo ()
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28. y=co(1 =3z} +cifz + 32,2+ D)!(—=1)-1-3--- (2n — 3)z?" 1 /(2n + 1)!]

29. Legendre’s equation of order 2, y = ¢oPo(z) +
cifr +30 2%+ )(=1)-1-3--- (2n — 3)x®" 1 /(2n + 1)!]

30. L{f()} = Jo~ e~ f(t)dt

31. 1/(s —1)?

32. s/(s*+9)

33. 4sin(3t)/3

34. 5t%ett )2

35. Ut —4)(e=* = 1)

36. e~tsin(2t)/2

37. (2e! — 2cos(2t) — sin(2t))/10
38. y = (2e! — 2cos(2t) — sin(2t))/5
39. y = 2t — 2t 4 tet

40. y = (9et — 9e=3t — 4te=3!) /16

41 y = (et + e ) /2 + (—t + (5et~* + 3¢ =) /) (t — 4)

42. X:cl<?>62t+02<1>e3t

[ —2t/3-1/18
3. Xp = ( /6 — 11/36 )

44. X = cet [( é )cos(Qt) - < (2) )sin(Qt)

+ o€t [( (2) ) cos(2t) + < é )sin(Qt)]

4 2 2 —5/2
45. X = ¢ 5 | +c2 0 | e +cs 0 |tedt+ | —1/2 |
-2 -1 -1 0
1 00
46. et = 56 1 0
3t+5t2 2t 1
47. 4 = 1.015
48. y; = 1.015

49. y; = 1.015113

50. The local errors are O(h%), O(h3) and O(h®), respectively. The global errors are
O(h?), O(h?) and O(h*), respectively.
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1. The differential equation 3’ = 2%y? is

Select all that apply.

2. The differential equation 3’ + y = 2?2 is
Select all that apply.

3. The differential equation zdy — ydx =0 is
Select all that apply.

4. The solution of ¥/ —y = x is

Select the correct answer.

(a) y=a — 1+ ce”
(b) y=—x+ 14 ce®
() y=—x—1+ce”
(d) y=—-z—1+ce ™
() y=a+14ce™™
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5. The solution of x?ydz + (23/3 + y)dy = 0 is
Select the correct answer.
(a) 2°y/3+y?/2
(b) 2%y/3 —y*/2
(c) 2%y/3+y*/2~c
(d) 2%y/3+y*/2=c
(e) 2%y/3—y*/2=c

6. The solution of zy’ = (z + 1)y?

Select the correct answer.

(a) y=1/(x +Inz+¢)
(b) y=1/(z —lnz +¢)
(¢) y=—c/(z+1nx)
(@) y= —c/(z — Ing)

() y=-1/(x+Inz+c¢)

7. A frozen chicken at 0°C' is taken out of the freezer and placed on a table at 20°C.
One hour later the temperature of the chicken is 18°C. The mathematical model for
the temperature T'(t) as a function of time ¢ is (assuming Newton’s law of warming)

Select the correct answer.
(a) 2L = kT, T(0) =0, T(1) =18
(b) 4L = k(T —20), T(0) =0, T(1) = 18

)
)
) &L= (T -20), T(0) =0, T(1) = 18
)
)

L =7, T(0)=0,T(1) =18

(
d

(e

8. In the previous problem, the solution of the differential equation is

dL — k(T —18), T(0) =0, T(1) = 18

Select the correct answer.

(a) T = Cet

(b) T =Ce™#

(c) T =20+ Cekt

(d) T =20+ Ce ™
) T

(e) T =18+ Cekt
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9. In the previous two problems, the solution for the temperature is

Select the correct answer.

(a) T(t) = 20 — 20e~23%
(b) T(t) = 20 — 20e%3%
(c) T(t) =18 — 18¢=2:30¢
(d) T(t) =18 — 18¢%3%
(e) T(t) = 18230

10. The solution of 3" + 4y’ + 4y = 0 is

Select the correct answer.

(a) y =cre 2% + cowe 2"
=cye + coe

b y 2z 2z

(c) y=c1e®® + ce®®

(d) y = c1€®® + coze?®

(e) y = c1e%® + coe®

11. The auxiliary equation of " — 5y’ + 6y = 0 is

Select the correct answer.

(a) m?> —5m —6=0
(b) m?2 —5m+6 =0
(c) m>—5m+6=1
(d) m? —5m+6

)

(e) m?>—5m—6

12. The solution of " — 5y’ + 6y = 0 is

Select the correct answer.

(a) y = cre 2% 4 cpe™ 3
(b) y = c1€*® + cowe®®
(c) y=cre 2 4 coze™3
(d) y = c16®® + cpe3®

(e) y = c1€®® + cpe™3
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13. The solution of 3" — 4y’ + 13y = 0 is

Select the correct answer.

(a) y = cre”?* cos(3z) + cae™ % sin(3x)
(b) y = c1e™?* cos(3x) + coe?® sin(3x)
() y cos(3x) + 227 sin(3x)
(d) v

)y

d
(e

14. The correct form of the particular solution of 3" — 2y +y =

T4 626
o cos(3:1:) + cosin(37z)

Select the correct answer.

15. The correct form of the particular solution of v — 2y = z + €*

Select the correct answer.

(a) yp = Az + B+ Ce”

(b) yp = (Az + B+ Ce")x
(c) yp = Az? + B + Ce”
(d) yp = A2? + Bz + Ce”
(e) yp = Az + B+ Cxe”

16. The solution of 4" — 2y = x + €%

Select the correct answer.

(a) y=c1+coe?® —2%/4 — /4 — €*
(b) y=c1 +coe®® —a2/4 —x /4 +€°
(c) y=rc1+coe®® +22/4 —x/4 — €
(d) y=c1 +coe®® +22/d+x/4 —€®
(e) y=rc1+coe®® +a2/4+ x4+ e
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17. The solution of " + 3y’ — 4y = cosx is

Select the correct answer.

c1e® + coe™ + (5sinx + 3cosz) /34
c1e® + coe ™ + (=5sinx + 3cos x) /34

(

b (=
c1e® + coe ™ + (=5 cosx — 3sinx)/34

(

(=

)y
)y
(c) y
(d) v
)y

(a
(

d
(e

18. The solution of " + y = tan x is

c1e® + cae™ + (5cosw + 3sinz) /34
5cosz + 3sinz)/34

cre® + e +

Select the correct answer.

(a) y =cpcosx + casinz + coszln | secx + tan x|
(b) y=cicosx + casinz — cosxIn | secx + tan x |
(¢c) y=-cicosx + casinz + coszln | secz |
(d) y=cicosx + casinz —cosxIn | tanz |
(e) y=-cicosx + casine —cosxIn | secx — tanx |

19. The solution of x%y” + zy’ =0 is

Select the correct answer.

(a) y=rc1 +coz!

(b) y=cilnz + coz~!
(¢c) y=c1+colnz

(d) y=-c1+ oz

(e) y =c1 + cor™2

20. The solution of z2y” + 3zy' — 3y = 0 is

Select the correct answer.

(a) y=c1z+ cox™?
(b) y= Lt cond
(c) y=rcie® + cpe 3
(d) y= T 4 coed”
(e) y=c17 + con3
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21. The solution of yy” = (y')? is

Select the correct answer.

(a) y=

(b) yln(cl) +yly—y=-z+c
() y=cz+c

(d) ylny —y =c1z + c2

(e) y=c1In(cox)

22. A 2-pound weight is hung on a spring and stretches it 1/2 foot. The mass spring system
is then put into motion in a medium offering a damping force numerically equal to
the velocity. If the mass is pulled down 4 inches from equilibrium and released, the
initial value problem describing the position, x(t), of the mass at time ¢ is

Select the correct answer.

(a) a2’ — 162" + 642 =0, 2(0) =4, 2/(0) =0
(b) 2" + 162/ + 64z = 0, (0) = 4, 2/(0) = 0
(¢) 2" — 162" 4+ 642 =0, x(0) =1/3, 2/(0) =0
(d) 2" + 162" + 64z =0, z(0) = 1/3, 2/(0) =0
(e) a2 + 64z = 16, x(0) = 1/3, 2/(0) =0

23. In the previous problem, the solution for the position, z(t), is

Select the correct answer.

(a) = = (¥ + 8te®)/3
(b) = (e 8 +8te8")/3
(c) = =cos(8t)/12 +1/4
(d) == (478 + 32te=8)
(e) = = (4eB — 32teBt)

24. The solution of the eigenvalue problem y” + Ay = 0, 3/(0) =0, y(1) =0 is

Select the correct answer.

(a) A=n2n%/4, y = cos(nmx/2), n =1,2,3,.

(b) A=nn/2, y = cos(nmx/2), n=1,2,3,.

(c) A =n2r?/4, y =sin(nwx/2), n =1,2,3,.

(d) A=02n-1)7/2, y—cos((2n—1)7r:z/2), n=123,...
(e) A= (2n —1)27%/4, y = cos((2n — V)7z/2), n = 1,2,3,. ..
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25. Using power series methods, the solution of 2zy” + ' + 2y = 0 is

Select the correct answer.

(a) y=codny(=2)"2"/(n!(1-3---(2n —1))) +
azt23%  (=2) 2" /(n)(3-5--- (2n + 1))

(b) y=cod 1( 2)"a"/(n!(1-3---(2n —1))) +
a1+ 2)"a™ /(35 (2n +1)))]

e (— 5
() y—60[1+2n (=2)ma™/(nl(1-3- -
all + 255 (=2)""/(n!(3-5--- (2n + 1)))]
( 3
5

(d) y=coll+ 352, (=2)"2"/(n!(1 (2n —1)))] +
clxl/Q[l +> oo (=2)"2"/(n!(3-5---(2n+1)))]

() y=[14+2521(=2)"z"/(n!(1-3---(2n — 1)))] +
22+ 3500 (=2) ™/ (nl(3 -5+ (2n 4 1)))]

26. Using power series methods, the solution of zy” — xy’ +y =0 is

Select the correct answer.

(a) y=cox+ ci[zine — 1+ 3 02 52" /nl]

(b) y=cox+cifzlne — 1+ > ,2 ;2" /(nl(n +1))]
(¢) y=cox+cilzlnxe + > o s x™/(nl(n — 1))]

(d) y=cox +cifzlnxe + > 02, 2™/ (nl(n — 1))]

() y=cox+arfzine — 14> 725 2"/(nl(n —1))]

27. L{tcost} =

Select the correct answer.

28. L7H1/(s* +4s+29)} =

Select the correct answer.
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29. Using the convolution theorem, we find that £71{1/((s + 1)(s> + 1))} =

Select the correct answer.

(a) (e7t +sint — cost)/2
(b) (e! +sint — cost)/2
(c) (e7!+sint + cost)/2
(d) (

) (

d
(e

30. Using Laplace transform methods, the solution of 3y +y = 2sint, y(0) = 1 is (Hint:
the previous problem might be useful.)

el —sint — cost)/2

et —sint — cost)/2

Select the correct answer.

) y=2e"+sint+ cost
) y=¢el+et —sint —cost
c) y=2e!—sint —cost
) y=2e"t+sint —cost
) y=¢el+et+sint —cost
31. Using Laplace transform methods, the solution of y” + 2y +y = e ¢, y(0) = 1,
y'(0) =01is

Select the correct answer.

) y = el +tel + t%e! )2

Y y=et+tet +t2e7t/2
) y=et —tel + 1%t /2
)y
)y

=et—te7t —t2e7t)2

1S

Select the correct answer.

a

(
(b
(

sint + sin(t — m)U(t — )

(t - )
cost +sin(t — m)U(t — )
cost + cos(t — m)U(t — )
cost —sin(t — m)U(t — )

sint — cos(t —
(c
d
(e

)y
)y
)y
)y
)y
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33. A uniform beam of length 10 has a concentrated load wp at x = 5. It is embedded at
both ends. The boundary value problem for the deflections, y(x), for this system is

Select the correct answer.

(a) y"" = Elwod(z — 5), y(0) = 0, y'(0) = 0, y(10) = 0, y'(10) =0
(b) y" = Elweé(z — 10), y(0) =0, y'(0) = 0, y(10) = 0, y'(10) =0
(¢) EIy" = wod(x —5), y(0) =0, ¢'(0) =0, y(10) =0, 3/(10) =0

(d) EIy"™ =wod(z —5), y(0) = 0, ¥'(0) = 0, y(10) = 0, '(10) = 0
(e) EIy"" = wyd(x —10), y(0) =0, y'(0

~—

=0, y(10) =0, y'(10) =0

34. The solution of the previous problem is

Select the correct answer.

(a) y = wold(t — 5)3U(t — 5) + 15t> — 23] /(24E1)
(b) y = wol[4(t — 5)3U(t — 5) + 15> — 23] /(12E1)
(c) y = woEI[4(t — 5)3U(t — 5) + 15t% — 23] /24
(d) y =woEI[4(t — 5)3U(t — 5) — 15t — 2t3] /12
(e) y = wold(t — 5)3U(t — 5) — 15t2 — 2t3] /(24 E1)
35. The eigenvalues of the matrix A = ( 1 _i ) are

Select the correct answer.

5+/17)/2
—5+/17)/2

2
.3
2

a
b

)
)
c)
)
)

—_— —
—

o~

d

[§]

—~
NN =

)

36. The solution of X' = < 1 _i ) X is

Select the correct answer.

(a) X=c1<f>e—2t+(;2<i>e—3t

(b) X=c1<f>e—2t+62<_i >e—3t
(© X:cl<j>e%+@<_}>e$t
Wx=a( 3 )eral })e
(© X:cl<_§>e2t+@<_1>ew
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37. The eigenvalues of the matrix A =

o O W

Select the correct answer.

(a) 1,2,3
(b) 2,2,3
(¢) 1,2, 2
(d) -2, -2,3
(e) —1,-2,3

38. The eigenvectors of the matrix A = are

O O W
—= w O
— = O

Select all that apply.

1
(a) | 0
0
0
(b) 1
1
1
(c) | -1
0
0
(d | 1
1
0
() | 1
0
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3 00
39. The solution of X' =1 0 3 1
0 -1 1
Select the correct answer.
0 0
(@) X=c1 | 1 |e¥+e 1
0 -1
0 0
(b) X =¢1 1 |ed4e| 1
-1 0
1 0
() X=c1| 0 |3 +e 1
0 -1
1 0
(d) X=c1| 0 |+ 1 | 4e3
0 1
1 1
() X=c1| 0 |e+c| —1 |e*
0 0
40. The eigenvalues of the matrix A = ( 1

Select the correct answer.

X is

0 0
1 [te®?+ | 1 |e*
-1 0
0 0
1 [te?t+ | 1 |e*
0 0
0 0
1 [te®?+ | 1 |e*
-1 0
0
te?t [ 1 |e?
0
1 0
—1 |t 4+ 1 |e?
0 0
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41. The solution of X' = ( i _i ) X is

Select the correct answer.

o xma(2Ymr (0 )
xea(g)orn (1) o
f e

?
e’ + co ( ? ) et
f )cos (V/3t) — ( _? )sin(\/ﬁt)] +
"o 2o
() X = 1 K : >cos(2t) - < B )sin(2t) < : )sin(Qt) 4 ( B >cos(2t)1

42. A particular solution of X' = < =2 )X—i— ( 2 ) is

+ Co

(1) (1)

+CQ

1 -1 t

Select the correct answer.

(8) X, = ( fiii)

(b) X, = ( ‘fﬁii)
(©) X, = ( ‘fﬁfﬁ)
one(222)
ox=( 0
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2 0

43. LetAz(O _3

). Then et =
Select the correct answer.

(a) I+ At
(b) I+ At+ A%2)2
(c) At+ A%t?/2

@ (0 6_£>
€2t—
<e>< . egt_‘f)

44. Using the improved Euler method with a step size of h = 0.1, the solution of 3y = 1—y?2,
y(0) =0at z =0.1is

Select the correct answer.

45. In the previous problem, the exact solution of the initial value problem is

Select the correct answer.

(a) y=(e*—1)/(e* +1)

(b) y = (e** +1)/(e* — 1)

(c) y= (e = 1)/(e>" +1)
(d) y=—(e*+1)/(e7* - 1)
(e) y=—(e*—1)/(e* +1)

46. In the previous two problems, the error in the improved Euler method at x = 0.1 is

Select the correct answer.
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47. Using the classical Runge-Kutta method of order 4 with a step size of h = 0.1, the
solution of 3’ =1 — g2, y(0) =0 at = 0.1 is

Select the correct answer.

(a) 0.099588
(b) 0.099668
(c) 0.099688
(d) 0.099768
(e) 0.099788

48. In the previous problem, the error in the classical Runge-Kutta method at x = 0.1 is
(Hint: see the previous five problems.)

Select the correct answer.

(a) 0.0008

(b) 0.00008
(¢) 0.00000008
(d) 0.000008
(e) 0.0000008

49. Consider the boundary-value problem y” — 4y’ + 3y = z, y(0) = 1, y(1) = 2. Replace
the derivatives with central differences with a step size of h = 1/4. The resulting
equations are

Select the correct answer.

(a) 12yi41 — 29y, — 24y;—1 = w;
(b) 12y;41 + 17y; + 12y, = x;
(¢) Byir1 + 17y + 12y;1 =
(d) 8yi+1 — 29y; + 24y;—1 = x;
() 8yit1+29y; — 24y;—1 = w;

50. The solution of the system in the previous problem is

Select the correct answer.

(a) y1 = 1.228, yp = 1.482, y3 = 1.753
(b) y1 = 1.228, yo = 1.646, y3 = 1.753
(c) y1 = 1.126, yo = 1.646, y3 = 2.903
(d) y1 = 1.126, yo = 1.786, y3 = 2.903
(e) y1 = 1.016, yo = 1.786, y3 = 2.903
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1. b, d, e

2. a, e

10. a
11. b
12. d
13. ¢
14. ¢
15. d
16. a
17. e
18. b
19. ¢
20. a
21. a
22. d
23. b
24. e
25. d
26. e
27. e
28. ¢
29. a
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30. d
31. b
32. ¢
33. d
34. a
35. d
36. e
37. b
38. a, b
39. ¢
40. e
41. a
42. b
43. d
44. e
45. a
46. b
47. b
48. ¢
49. d

50. a
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1. The differential equation 3 = 2%y + cos x is

Select all that apply.

2. The differential equation 3’ = 2%y Iny is
Select all that apply.

3. The differential equation zdy — y?dx = 0 is
Select all that apply.

4. The solution of ¢ +y = x is

Select the correct answer.

(a) y=a — 1+ ce”
(b) y=—x+ 14 ce®
() y=—x—1+ce”
(d) y=—-x—1+ce ™
() y=x—14+ce™™
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5. The solution of ycos zdx + sinzdy = 0 is

Select the correct answer.

ysinzx
b

(a)
(b)
c) ysinx =c¢
)
)

Y Ccosx
(
(d

(e) ycosz — ¢

Yycosx = c¢

6. Use Euler’s method to solve the initial value problem 3’ = 1 — 32, y(0) = 0, with a
step size of h = 0.1. Find approximations of y(0.1) and y(0.2).

7. In the previous problem, compare your answers with the exact solution, y =
(e?® —1)/(e*® 4+ 1). What are the errors at z = 0.1 and at = = 0.2?

8. The half life of a C-14 is 5600 years. A charcoal sample is discovered with 20% of its
original C-14 remaining. How old is the sample?

9. Consider the logistic equation for a population of a city that is at 5,000, and that has
a limiting size of 20,000. The intrinsic growth rate of the city is 2%. Write down the
mathematical model for the population, P(t), as a function of t.

10. In the previous problem, what is the population as a function of ¢?
11. Solve the differential equation y” — 6y’ + 8y = 0.

12. The solution of 3" + 4y’ — 5y = 0 is

Select the correct answer.

(a) y = cre™® + cpe™
(b) y = c1e® + cpe™

(c) y=c1e® + ce
(d) y=cre ™+ core™>
(e) y=c1e¥ + cpe3®

13. The auxiliary equation of " — 6y’ + 9y = 0 is

Select the correct answer.

(a) m? —6m —9=
(b) m? —6m +9 =
(c) m>=Tm+9=0
(d) m? —6m+9

(e) m2 —7Tm+9
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14. The solution of " — 63/ + 9y = 0 is

Select the correct answer.

3z

T+ coxe’”
—6:v_|_02€ 3x
7+\/_)$/2+626(7 V13)z/2
0167’5/2 cos(v/131/2) + coe™/? sin(v/13x/2)

e 3T 4 core 3T

)
b)
()
)
)

(a
(

(d
(e

15. The solution of 3" — 6y’ + 13y = 0 is

Q‘SQ‘SQ‘SQ‘S@

Select the correct answer.

6_3"3 cos(2z) + coe3® sin(27)

3% cos(2x) + coe 3% sin(27)

a

(
(b
(

(c
d

(e

16. The correct form of the particular solution of 3" — 3y’ + 2y = €% is

cos(2x) + c2€3% sin(27)

)y
)y
)y
)y +626
) y=

1 cos(2x) + co sin(2x)

Select the correct answer.

17. Solve the differential equation y” — 6y’ + 13y = cos(3x).
18. Solve the differential equation y” — 4y + 3y = x + €.
19. Solve the differential equation 3" + y = secx.

20. Solve the differential equation z2y” — 4xy + 4y = 0.

21. Solve the differential equation z2y” — 3xy + 5y = 0.
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22. A 2-kilogram mass is hung on a spring. The spring constant is k& = 4N/m The
mass spring system is then put into motion in a medium offering a damping force
numerically equal to six times the velocity. If the mass is pulled down 40 centimeters
from equilibrium and released, and a forcing function equal to 2e~3! is applied to the
system, the initial value problem describing the position, x(t), of the mass at time ¢
is

Select the correct answer.

(a) 2" — 32 + 2z =e3 2(0) = 4, 2/(0) =0
(b) 2 + 32"+ 22 = 73, 2(0) = .4, 2/(0) =

(c) 2" — 32"+ z/2=e3 2(0) = 4, 2/(0) =0
(d) 2" +32' + /2 =3 2(0) =40, 2/(0) =0
(e) 2" + 2z =3+ e 3 2(0) = 40, 2/(0) =

23. In the previous problem, the solution for the position, x(t), is

Select the correct answer.

a) x=14det—13e 2 +¢3/2
(a)

(b) z=1.4e "+ 1.3e72 +e73t/2
(c) z=14e " — 1372 —¢73t/2
d) z=13e"t+1.4e 2 4 ¢73t/2
(d)

(e)

24. The solution of the eigenvalue problem y” + Ay =0, 4/(0) =0, ¢/(1) =0 is

r=13e"t—14e72 4 ¢73/2

Select the correct answer.

) A=n2r% y=cos(nrz), n=0,1,2,...

) A=nm, y=cos(nmzx),n=0,1,2,...

c) A =n?r? y =sin(nrr), n=1,2,3,.
) A=(2n—1)7/2, y = cos((2n — 1)7‘1’1‘/2), n=123,...
)

(e) A= (2n —1)27%/4, y = cos((2n — V)7z/2), n = 1,2,3,. ..
25. Use power series methods to find the solution of zy” — zy’ +y = 0 about x = 0.

26. Use power series methods to find the solution of zy” + 2y’ — xy = 0 about z = 0.

27. Use power series methods to find the solution of z2y” + 23/ + (2? — 4/9)y = 0 about
z=0.

28. In the previous problem, identify the equation and write down the solution using the
special function notation.
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29. L{t?e*} =

Select the correct answer.

30. L{t*sint} =

Select the correct answer.

(a) (852 —4)/(s®> +1)3
(b) (6s* —2)/(s*>+1)?
(c) (652 42)/(s*+1)?
(d) (6s* —2)/(s*+1)3
(e) (652 42)/(s*+1)3

3. L7Y(s+1)/(s*> +16)} =

Select the correct answer.

(a) cos(4t) + sin(4t)
(b) cos(4t) (42)
(c) cos(4t) + sin(4t)/16
(d) ) (42)

) ) (41)

— sin(4t

(@)

d) cos(4t) — sin(4t)/4
(e) cos(4t) + sin(4t)/4

32. L7 (s+1)/(s* +6s+34)} =

Select the correct answer.

cos(5t)e 3" + sin(5t)e 3 /5
cos(5t)e 3t — sin(5t)e 3

a) cos(5t)
(5t)e™

os(5t)e 3t — 2sin(5t)e 3
(5t)e™
(51)

(

(b
(c
(d
(e

os(5t)e 3t — 2sin(5t)e 3 /5
cos(5t)e 3 + 2sin(5t)e =3t /5

(@)

~— ~— — T
Q
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33. Using the convolution theorem, we find that £L71{1/((s — 1)(s> +4))} =

Select the correct answer.

(a) (' —sin(2t) — cos(2t))/10
(b) (2e! — sin(2t) — cos(2t))/10
(c) (e + sin(2t) — 2cos(2t))/10
(d) (2¢' + sin(2t) + 2cos(2t))/10
(e) (2e' —sin(2t) — 2cos(2t))/10

34. Using Laplace transform methods, the solution of ¥’ —y = 2sin(2¢), y(0) = 0 is (Hint:
the previous problem might be useful.)

Select the correct answer.

(a) y = 2(2e" +sin(2t) + 2cos(2t))/5
(b) y = 2(2e’ — sin(2t) — 2cos(2t))/5
(c) y = 2(e! —sin(2t) — cos(2t))/5
(d) y = 2(2€’ — sin(2t) — cos(2t))/5
(e) y =2(e! +sin(2t) — 2cos(2t))/5
35. Using Laplace transform methods, the solution of y” + 3y’ + 2y = e, y(0) = 0,
y'(0) =0 1is

Select the correct answer.

(a) y= et e
(b) y=—et+ teft e 2t
(c) y= bytet+e
(d) y=et4tet —e 2
() y=et4tet+e 2

36. Solve the initial value problem y” +y =t U(t — 2), y(0) =1, y'(0) = 0 using Laplace
transform methods.

37. Solve the system X' = AX where A = < (1) ; )

38. Find a particular solution of the system X' = AX + F(t) where A = < (1) g ) and

t
F(t) = < 60 ), using a fundamental matrix.

39. Solve the system X' = AX where A = < _i i )
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40. Solve the system X' = AX where A =

S O N
O N =
W = O

41. Let A = . Calculate et.

= O O
_ o O
o O O

42. Using the improved Euler method with a step size of h = 0.1, the solution of 3/ = 142,
y(0) =1at z =0.11is

Select the correct answer.

(a) y1=1.211
(b) y1 =12

(c) y1 = 1221
(d) y1 =1.222
(e) y1 =1.121

43. In the previous problem, the exact solution of the initial value problem is

Select the correct answer.

(a) y =tanz
(b) y = tan(x + 7/4)
(¢) y =tan(x + 7/2)
(d) y =sec(z +7/4)
(e) y=secx

44. In the previous two problems, the error in the improved Euler method at = = 0.1 is

Select the correct answer.

(a) 0.00105
(b) 0.0106
(c) 0.0011
(d) 0.0105
(e) 0.0165
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45.

46.

47.
48.

49.

50.

Using the classical Runge-Kutta method of order 4 with a step size of h = 0.1, the
solution of 3y =1+ 42, y(0) =1 at x =0.1is

Select the correct answer.

(a) 1.228
(b) 1.231
(c) 1.023
(d) 1.218
(e) 1.223

In the previous problem, the error in the classical Runge-Kutta method at z = 0.1 is
(Hint: see the previous four problems.)

Select the correct answer.

(a) 0.0000001
(b) 0.00000002
(¢) 0.00000003
(d) 0.0000004
(e) 0.0000005

What is the expected order of the local truncation error in the improved Euler method?

What is the expected order of the local truncation error in the classical Runge-Kutta
method of order 47

What is the expected order of the global truncation error in the improved Euler
method?

What is the expected order of the global truncation error in the classical Runge-Kutta
method of order 4?7
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1. a, e

2. b,d

3. b, d, e (a, b, e if x is the dependent variable)
4. e

d. ¢

6. y1 = 0.1, yo = 0.199

e1 = 0.000332, ey = 0.00162

®©

t = In(0.2)/(—0.000124) = 13000 years
9. 42 — 0,000001P(20000 — P), P(0) = 5000
10. P = 20000/ (1 + 3¢~0-02t)
11. y = c1€%® 4 cpe®®
12. ¢
13. b
14. a
15. ¢
16. d
17. y = c1€3% cos(2x) + coe3® sin(2x) + (2 cos(3z) — 9sin(3z))/170
18. y = c1e® + c2e3® + /3 +4/9 — xe® /2

19. y =cycosx + cosinz + xsinz + coszln | cosx |

20. y =z + 62334

21. y = 1z cos(Inx) + coz? sin(In z)
22. b

23. e

24. a

25. y=cix+c(rlne -1+ 322" /(nl(n—1)))
26. y = coz L 00 2 /(2n)! + ez 00 o 2T/ (2n + 1)!

27 y = co YopZo(=1)"(¢/2)>* /3 /(nl(T(n + 5/3))) +
c1 Yono(=1)™(@/2)™ 3 /(n)(D(n +1/3)))

28. Bessel’s equation of order 2/3, y = c1J_y/3() + c2Jy/3(7)
29. c
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30. d
3l. e
32. d
33. e
34. b
35. ¢

36. y=(t—sin(t —2) —2cos(t —2)) U(t —2) + cost

1 2
37. X261<O>6t+62< 1 )e%
tet
38. Xp:< O)
1 0 .
39. X = ce [( 0 )cost— 1 )smt

1
40. X=¢; | 1 e3t+cQ(
0
0
1

41. At = 6t

42. d
43. b
44. a
45. e
46. c
47. O
48. O
49. O
50. O



